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 Solution of Revision Day -5  

                                                    Answer to the question no -1  

1.  b.34×45=1530               

2. c. 66  

3. c.120  

4. b. 90 degree angle. 

5. a. 31 degree angle. 

6. c. 110 degree angle. 

7. d. 180 degree angle. 

8. a Degree 

9. a. 0÷2=0 

10.  d. 6÷6=1  

11. b.
5

5
  

12.   d. . 
2

10
    

13.   c. 1- 
3

4
  =   

1

4
 

14.  d. 
1

4
  <  

2

4
        

15. c. 
3

3
 

16. d. 165 taka 50 paisa  

17.   c. 1- 
3

5
  =   

2

5
    

18.    c. 
2

4
  = 

2

4
   

19.  A. 64 taka 75 paisa 

20. b.100    

21.   b.6         
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Answer to the question no -2 

                   A. 

a + 2 

b + 3 

c + 1 

d + 5 

                   B. 

a + 3 

b + 1 

c + 4 

d + 2 

                   C. 

a + 3 

b + 4 

c + 1 

d + 2 

Answer to the question no -3 

a.False 

correct answer: 

110 taka - 1 taka 40 paisa =108 taka 60 paisa.  

b. False 

correct answer: 

140 taka 75 paisa – 20 taka 25 paisa =120 taka 50 paisa. 

c. False 

correct answer: 
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125 taka 58 paisa + 57 taka 74 paisa =183 taka 32 paisa. 

d. False 

correct answer: 

74 taka 49 paisa + 36 taka 95 paisa =111 taka 44 paisa 

Answer to the question no -4  

 

          Answer to the question no -5        

i. 100   taka. 

ii. 30  notes  

iii.  1 taka. 

iv. 10    notes of 2 taka equals to 20 taka. 

v. . 
3

4
   

vi. Whole 

vii. numerator  

viii. The numerator 

ix. denominator 

x. The denominator. 

xi. 3 pencils. 

xii.  6 apples  

xiii. 6 erasers. 

xiv. 4 books 

xv. 20 books  

xvi. 10 guavas. 

xvii. 42 apples. 

 

  

a. 681 × 45 = 30645 

Product =  30645 

Multiplicand  = 681 

                         Multiplier = 45 

 

b. 70 × 68 = 4760 

Product = 4760 

                         Multiplicand = 70 

Multiplier = 68 
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xviii. 45 boxes. 

xix.  An angle 

xx. Obtuse angle 

xxi. Acute angle 

xxii. 90 Degree 

xxiii. 180 Degree 

xxiv. ending 

xxv. A point. 

xxvi. Line segment. 

xxvii. Ray 

xxviii. Dividend 

xxix. Dividend 

xxx. Quotient 

xxxi. Remainder 

 

                   

                                                              THE END 


